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January 1994 Python 1.0

April 10, 1995 Python 1.2
October 12, 1995 Python 1.3
October 25, 1996 Python 1.4
December 31, 1997 Python 1.5
September 5, 2000 Python 1.6
October 16, 2000 Python 2.0
April 17, 2001 Python 2.1
December 21, 2001 Python 2.2
July 29, 2003 Python 2.3
November 30, 2004 Python 2.4
September 19, 2006 Python 2.5
October 1, 2008 Python 2.6
July 3, 2010 Python 2.7
December 3, 2008 Python 3.0
June 27, 2009 Python 3.1
February 20, 2011 Python 3.2
September 29, 2012 Python 3.3
March 16, 2014 Python 3.4
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September 13, 2015 Python 3.5
December 23, 2016 Python 3.6
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https://www.python.org/downloads
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Python

& python’

About Downloads Documentation Community Success Stories News Events

Download the latest version for Windows m

Wondering which version to use? Here’s more about the difference

between Python 2 and 3.

Looking for Python with a different 0S? Python for Windows,
Linux/UNIX, Mac OS X, Other

Want to help test development versions of Python? Pre-releases

0315 il 5 ©hygo 4 &S (Gl Axiuo Hd G L3S SIS Hb 95 (LB (59 p g did) T )uBd Jmo @ 5 3y90 Jal d9bls I sy

T3S SUlS Customize installiation diujS (g9) p maw g 63 1) 45 390 S 394 (50
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©» Python 3.6.4 (32-bit) Setup ==

Install Python 3.6.4 (32-bit)

Select Install Now to install Python with default settings, or choose
Customize to enable or disable features.

< Install Now
C:\Users\YounesCsharp\AppData\Local\Programs\Python'\Python36-32

Includes IDLE, pip and documentation
Creates shortcuts and file associations

- Customize installation
Choose location and features

python
for Install launcher for all users (recommended)

Wind()ws o Add Python 3.6 to PATH

T3S SUlS Next d4aSy (69) p amio ¢l )3 3940 (50 0313 Ginled 1) g0 @ (5] Ao H9S3e 43S (g9 0 SulS jl A

. -
©» Python 3.6.4 (32-bit) Setup =

Optional Features

Documentation

Installs the Python documentation file.
pip

Installs pip, which can download and install other Python packages.
tcl/tk and IDLE

Installs tkinter and the IDLE development environment.

Python test suite

Installs the standard library test suite.

py launcher for all users (requires elevation)

Installs the global 'py' launcher to make it easier to start Python.

pgthfon

windows Back (Nextu)] (RaCance

13940 Lual 4ol B aslay Hbiie 9 63,5 S Install daSs (g9 p a2 =0 )
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©» Python 3.6.4 (32-bit) Setup =

Advanced Options

[[] Install for all users

Associate files with Python (requires the py launcher)
Create shortcuts for installed applications

Add Python to environment variables

[T Precompile standard library

[C] Download debugging symbols

[7] Download debug binaries (requires VS 2015 or later)

Customize install location

C\Users\YounesCsharp\AppData\Local\Programs\Python\Py

pgthOﬂ You will require write permissions for the selected location.
) for
WIﬂdOWS Back [ Install ] [ Cancel ]

4aS 3lgT (50 Lo g 394 (50 6315 v les Lad 4 doliy ual )39y jaol Caaiidgo p (Huo soley deby JolS cuas jl =y 9,57 )5

1305 |y Close

r == N

Lk Python 3.6.4 (32-bit) Setup =

Setup was successful

Special thanks to Mark Hammond, without whose years of
freely shared Windows expertise, Python for Windows would
still be Python for DOS.

New to Python? Start with the online tutorial and
documentation.

See what's new in this release.

python
for
windows
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03w 4ol O sl
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23S W2l o5 ©)90 4 ) IDEL oungs

i B =Y
Programs (1)
.7 IDLE (Python 3.6 32-bit) e
Files (7)

}.) See more results

| IDLE n x| | shutdown | » |

1394 (50 031> Giulad yj Wy @ (gl dA=do IDEL (6g) o SIS L
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r{_& Python 3.6.4 Shell

File Edit Shell Debug Options Window Help

Python 3.6.4 (v3.6.4:d48eceb, Dec 19 2017,
32 bit (Intel)] on win32

06:04:45) [MSC v.1900 *

Type "copyvright",

"credits" or "license()" for more information.

>>>

-

Ln:3 Col: 4

1S S New File aiysS Guaw g File (goio (59 p p1j g0 41 024 U d=duo >

-
hon 3.6.4 Shell
ile | Edit Shell Debug Options Window Help
New File Ctrl+N ceb, Dec 19 2017,
Open... Ctrl+ 0O
Open Module... Alt+M
Recent Files
Module Browser Alt+C
Path Browser
Save Ctrl+S
Save As... Ctrl+Shift+S
Save Copy As...  Alt+Shift+S
Print Window Ctrl+P
Close Alt+F4
Exit Ctrl+Q

06:04:45) [MSC v.1900 *

Is" or "license()" for more information.

-

Ln:3 Col: 4

T3angin o J515 53 1) 395 (5o aS 3wlgs (0 Lasd 45 394 (50 6315 Linlad 1) ©)go @ (gl axio New File 4iyjS g9y 0 SAS L
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| & Untitled = | E
File Edit Format Run Options Window Help

| -

-

Ln:1 Col:0

Paawgh |y 1) @A Vb oy=iy )5

print("Welcome to Python Tutorials!");

(| & *Untitled® EENEERT

File Edit Format Run Options Window | Help |

print ("Welcome to Python tutorials!");

>

1

Ln:1 Col: 38
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1a0p ) Save apiS File (goio jl pj JSub dislo

(| & *Untitled® EENEERTS

ale | Edit Format Run Options Window Help

New File Ctrl+N fFutorials!"); o
Open... Ctrl+0

Open Module... Alt+M

Recent Files 4

Module Browser Alt+C
Path Browser

Save e Ctrl+S

Save As... Ctrl+Shift+S
Save Copy As...  Alt+Shift+S

Print Window Ctrl+P

Close Alt+F4
Exit Ctrl+Q

-

Ln:1 Col: 38

121 03,5 0,053 C galyd )5 1) Jold o5 JSui 50 Lo L3S il (6,033 (gl yawo SO g
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E_a Save As u
@leﬁ » Computer » Local Disk (C:) » v I‘” | Search Local Disk (C:) L I
Organize v New folder S 4 @

[/ Pictures *  Name . Date modified Type
= Videos )
. PerflLogs 7/14/2009 7:50 AM  File folder
; .. Program Files 2/22/2018 9:24 AM  File folder
1% Computer : 4 :
: . Program Files (x86) 2/24/2018 6:10 AM  Filefolder
€L ik () A
A .. SymCache 4/7/2017 8:57 AM File folder
a Local Disk (D:) ) )
¥ Ju Users 4/6/2017 6:13 PM File folder
@ Local Disk (E:) :
. 1 wamp 2/17/2018 7:48 AM  File folder
cw Local Disk (F:) |_ ) )
: 2 .. Windows 2/24/2018 10:09 AM  File folder
w Local Disk (G:)
a Local Disk (H:)
&% DVD RW Drive (J;—'
= ) v A 0 »
File name:  MyFirstProgram a 5
Save as type: [Python files (*.py:*.pyw) ']
+ Hide Folders Q Save | | Cancel |

130 ) F5 4aS> b g Run Module 4iy;S Run (goie jl g dishS 1 (oung33S Joume 4 (Jold 0,053 jl asy

g

(- :@ "

{_& MyFirstProgram.py.- C:/MyFirstProgram.py (3.6.4)
File Edit Format% Options Window Help

print("Welcoms  Python Shell y ") ;
Check Module Alt+X

Run Module F5

Ln:1 Col: 38
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1390 (50 wl= !Welcome to Python tutorials pley g sduis Lol doliy a5 34iS (50 s3olive

(1.3 Python 3.64 Shell ESEE)

File Edit Shell Debug Options Window Help
Python 3.6.4 (v3.6.4:d48eceb, Dec 19 2017, 06:04:45) [MSC v.1900 *
32 bit (Intel)] on win32 |
Type "copyright", "credits" or "license()" for more information.
>>>

RESTART: C:/MyFirstProgram.py ==========

Welcome to Python tutorials!
>>>

Ln:6 Col: 4

ol Ginles dzbio ) play SO Ginlas Yo JUo )5 B sy Python s algs oo Lad a5 caul (gl 40Uy p2)365lw YU JLio
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print()xie dosio ol jl X3 .35 (50 )18 () Code 5T pU (solz 53 9 0393 pL S (ghy1d a5 i S I (gl dcgamo > Aio
ygaze (1) cpinaieS Jold dusg a1 a5 ! Wo)3ST)1S 51 (29,5 diddy O 294 (0 o3l didy S Ol gl print() vie jl .cusl
YU JUo J5 55 2L ... b Celle dae wdy> SO lgise yiShI5 S, “IWelcome to Python Tutorials™ : aile .cuuwl 6ad
35 51 9 35550 03330 1) Vb (1> (GLad (yaily .l 630T 030T (gl juyd 53 yidiy Wloxudgd .ol print() o jl esliiwl 69z

13,5500 JBbl 5
print(
"Welcome to Python Tutorials!");
@@ b Python ;5 man g MAN Jlio job & (sizs. Cuwl (wlws Bgy> (55265 9 Sy © Python 45 bl aibls Sb 4 dbives
azlge U5 b pj (5oaS Wie 31> pudlgs pusgs 63T (Gloyw)d 53 45 Alimd (sikime 63cl (il | Oloudgs g i) 3515 §)8

P g0 b2l g Sgide
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Print("Welcome to Python Tutorials!");
PRINT("Welcome to Python Tutorials!");
PrinT("Welcome to Python Tutorials!");

sl Uas ()90 WolS 105 a5 Lol a5 (50 (6)259lz 35 (ghal 5l B9y Sz 9 532 )3 juss

print("Welcome to Python tutorials!");

09D )3 GugiAS 3)90 )3 (SIS

35 W S0 sloul (sl () V95T erolle 1 e)lis o 9 Igl> Jio (2 )15 5

Block

{
}

statement;

1394 (50 83l )il (gh (538 95 9 (1) ahail 95 Caodle LuS)S 5l Heik KLj )d W9

Block:

statement;

S (50 Ly |y Soly o ©lygies bghas (glail (538) 95 b 9 @uiS ST | 35 Sob Sy @yls 1@ a5 pngS(50 pel @ ahiigs b o

Gl g culey 35 olad )3 a5 (Hloj U (I (glad (il liae .anS odlasiwl (JI> (glad Vo b F L W 5l aslgiise (X895 (gl

coNOuUVhwWwNPR

Block1:
statement;
statement;
Block2:
statement;
Block3:
statement;
statement;
Block4:
statement;
statement;
statement;

A0 60 R B G5B 95 el @ 35 )3 31

o5 shls VL iz @ ole jl am) bghs dS AuS dzgi diSS ¢l 4 29 ;0 Jold ) ¥ U k551 (Blockl) Jgl S Wb S )

o2l @S oyLsl (5T @ 6)Lgd Lxinl )3 1L a5 () iS5 394 (0 @i | b5 @ g Egpib F 5 I (Block2) gy SW .3l S,

2> ¥ 92 bghs Vb aS )5 Wi . 3bh 0 S Sy gjo Cund iz Cuow jl pl s ol hls a5 (plo SW b Hgiwd 45 Cuwl

SW j2 5505 @i Bl |) e cuaw jI W bs glo dbold Wie )51 ¢ cunl plp i caw j1 3T X8y ¢ ()92 iwme Blockl

Block4 A ks> g Block2 dcgams j |y Block3 § a5 )5 Wio .3)S (505 SW dcgame 1) (ylgs (50 |y SW SO L3948 (505 Ogusco
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Ko g gl (o5 .39 (50 bl Jitme 9 Cuns o SW I plaSous jo ¥ b ol ) .l 63,5 Block3 acgame yj |

o3l pj )0 4\ Colle I plgd 5o ek )3 BRI lp Jamgh b iz )3 ) (SVeb (o aid) oS Cwl Y (mngisS

Paus
print("Welcome \
to \
Python \
Tutorials!");
Ol=aogs

4ol (5l i 9) Python ;s 3,8 Lol gl 4 35 ol diabg (5)9Tok Cag (ke 45 3adlgn b 345 (50 U (635 &5 (589
4 5 Bsd (5o 4B)S 0130 punko baungh o A igie Bloxgsgi 1 plal Glovsed 1 ediial b 1y )15 ol oI5 oo (Gans’

g (505 Lgmne 35 I iy lgic
a5 23S oyd Ll L% (gl lads buwgd 63 Ay (IS i Hausuil g (RLlgS (13 YU «Wilswbgs syl jI Hlol Bas
(S5l Ao (5l Sloudgi 1 saungh O )US L 35 (VL )3 ) ©loudgi 35195 (50 @) Zudgs (ol 45 S )90 53 3udlg> (50

Tl 034 031> (i Wileuogd (il 5 4eliy 53 .34 (50 63liw] e doliy

#This line will print the message hello world
print("Hello World!");
bid YL 25 ghal b § Cumnz p9> b daubg a5 AS (50 el )5 4 a5 Cwl pgd k3 65L)> FuogT SO YL AS Jgl kS WL AT >
&S yohilad .355 (50 63030 |) Gloud gl jmie (h92 394 (503 831> inled ;29,5 5> Jgl ko> g 6ais Ll Hello World dles
2,0 il )3 Db o (SVgb Oloxwded sy .39 (0 edlaiul # Cuode jl Hoialy ) Olwdel )3 (slp 15 (o s10lie
P39 25 Ceatle (ol pubed

#This line will print
#the message hello world
print("Hello World!");

GhiiS (gl aS LS
S g e 23 b B> SO 3T JLod ) g Bgdbse Egpa (\) kel Su S0 b &5 iind (105)5 (SIS HS (JyiiS (sl
\N -GS JSHIS 51 glgige ol )3 diidy (313 )18 g L b SO dlowl gl Jbie glp 3350 Ginle Gols Cuoyd b ) aidd

13,5 oslatiwl
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print("Hello\nWorld!");

Hello

World

Ao Ginlad 2y s 53 ) dlid) dudy g 03 32 b 4y |y Gugle ,S5Lis\N (S JiSHIS b dgolge jl ey junde 45 3335 samlive

330 Ui 1) LT 3)5)15 9 )i gloyShES Caund 05 Jgs

S s 5Slac S Syl 5)Slas
\’ oaeS Ol \f Form Feed
\” o9 RIS ol \n LAz b5
\\ ol o @l \r 038y yhw yw
\o W glad ol \t L8l )0 4 Sy
\a G (gl \v (69908 B)g0 4 LSy
" VRGeS v 3y SIS oz

le Gl 1350 did)y G (ols Glize \ ASuleil jl @S e eslaiwl (\) il SO 1 JyiS (loyiSHS i esleiwl (gl Lo

TS eolaswl (\\) jlaab (\) (il SO

print("We can print a \\ by using the \\\\ escape sequence.");

We can print a \ by using the \\ escape sequence.

Tl joding 5> 8 SO yaumo 31 lis A\l eslaiwl 3)lge 1 (S

print("C:\\Program Files\\Some Directory\\SomeFile.txt");

C:\Program Files\Some Directory\SomeFile.txt

iS50 o3kl \” 5l T Gl gl paiS 5o edlaiwl i) ¢l (s glp () eiisS Jols 51 aSyledT

print("I said, \"Motivate yourself!\".");

I said, "Motivate yourself!".
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iS50 o3kl \7 51 (7)) uinSeS Ll gl iz

print("The programmer\'s heaven.");

The programmer's heaven.

139050 83wl \T jl WlalS b Bg)> (hu dlold Sl (gl

print("Left\tRight");

Left Right

HH9 \U Cole 1 dy cuawys 1) HiSHS 17 (glio ) Hlade U jl eslaiwl (gl .5)S eslatiw! \U j1 (4lg3 50 309 Lgl.:b);iSbLS ol lp

1Al @ud )8 1) BOAT jlaie \U Caole jl a2y LU auiS Ol Iy (0) cauly (S Cuole pudlgso ST o (glp .ad(50

print("\ueeAs");

1awlai aezlio 1) i @ ASWgy (sySHS (g1 1T (glae yslde cund srolie (glp

http://www.ascii.cl/htmlcodes.htm

Gl Umgs woly 65 338l (50 GSH (Sloj Ua payidin 3830 S pliny doliy S 395 jlone yud (LS JISH Sy ) jamio S|

LS o e3lael \\ I (\) ikl o

b

).39..\.0

395 (slodls a5 35 jaai Byb S ploic 4 1y T lgige .3uwS 6,ud ()T )3 1) (6pdlie 35lg5 0 Lads a5 Cuwl bl I (S50 yusio
2250 lgie T @b 51 45 .Cund j5 pb S (gh1d jugio j .S Huei b 39 S Jlgie Wb ¢l Ghgise .33l631> )1)8 4T > 1)
03 OBl )5 Jawgd lgise a5 Mibbse ylade O (h1d uigean 13,5 13w (oyiwd o Hlade 4 g 315 Housuis W jasie 505 51 )
©lodls €95 b (T E63 a5 (simo (I Cand ju5 Egi (Gh1d jugie . 3bb 15 (503 Vgl 0 yie Hlade. ADL dusloe S azui b 3L
Sl (550 3950 8)u5d (] )3 &S

Calgd 3 9355 )8 oolail 3)90 doliyy Job )3 y3iz Wb puile &5 315 awdil plgise Ol (69) 1 &5 Cund 5 yac (Gh1> pusio

O byusie jl Lo .l uyiwd JB Lo (5l doly (slo dz 5 jusio a5 335550 lads ) 45 Cund 15 63liiwl 83930 (ghl> jusio
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@315 0153 sl e SO @ gliis] EuiS (50 Sl Wby S o 505 iS50 3lainl 631> )3 (gl (Bge Ll Sy lgic

< Gl o lad (o ol Eyld (g0 I)lg 5 awes aS (pesls Ly yolie

lojusio a0 pui |y ol )laie Al @)Y &5 2 )0 kol E95 @ diwn pslgise Lo g2 d9d(s0 o3laiwl yudie aalS I ol sl

35 Lo yusie Glgioe 13300 |y 4ol Lad (5389 9 Cunlysl Jlo 53 doliy o5 3555 (0 HL8 63laimwl 3)g0 ;2890 Lid g Jiiwmd (890

35 Caley ) 25 g8 2L b pio (6)HSLL (gl 35S hay Gropiand O @ T pukio PU dlung @ &5 3id S5 WS L3gid 0 S

-39 Egpld _ade b (a-z or A-Z) Léll Bgyo 5l (5o b b usie b @

Aab#, 2, A, 8,

-3)S o3laiwl paio pU (gl oL )d 6140 g)5) WlalS I ylgi e @

Aab (spaces) (I glasd ghld 1l puoio b @

L3070 Glns @ Lalizo iSHIS 93 A g a aiile Bym 93 ()3l ) . Aiiud Gwlws Wgy> (LS265 6 (.51 © Lo o usio ;olwl

Gy> b G)iﬁ) 9 M S2eS By b il 51 5o ()92 Vigd(s0 Lgmmo Lalizxs jusie 93 MyNumber g myNumber (glgol b jusio 93

Tl 030 135 53 35 e3liium] o pusio (6)l3500 5> T I LS a5 (gL (55 WlalS Cumd @i (50 2SS (el ) b 631>

False
None
True
and

as
assert
break
class

continue

def if

del import
elif in

else is
except lambda
finally nonlocal
for not

from or
global pass

<AL (50 (gylinel slacl Jolid

.l ;0 false L true jlagoe 95 Jold

raise
return
try
while
with
yield

831> Elgil
331 A5)lie 35)1> 3929 (ol )3 a5 (o 63> Elgil
guogs &y
integer (Numeric)gdac
float
boolean



09k oY e :Jgl Juad

GWbl 3l aid)S L8 (piasgS I b opiaigS Caolle 93 (yw a5 WoyiS|S 1 (gl dcgamo @

(String) ! @i,
-394 (50

034 13> @2 1 () LlS Ceode b g a4i8)3 )8 [] colle 93 (a5 imd by @] 1 (5l dcgamo

0340 132> @@ 51 () LlS cuodle b g ai8)3 51,8 () cuodle 9 ¢y a5 i o @] 51 (5] dcgame

L g «ai8)S )1)8 {} Cuole 93y 039 lade g 3ulS Oyguo @ a5 M o @iyl j1 (5l dcgameo

(List) <

ARV
(Tuple) U

ARV
(Dictionary) g uussd

-3l 00 13z @o 1 () LolS ol

SRS (50 T Ay () 5D (W yaio 5 LgiT I eslasiwl 69 g YL (sl 631> Elgil 3yg0 5>

o pusio ) 63Lsiunl

Laiib a5 CaunblS gl )3 23S (50 Yoo @@ |y o €95 WL e Cayes EIKiB oS (o)l w 9 Il Jio Rl L) BV

variableName = Value;

TN welais OT“-?)|°\-6'°‘S%(59WC*°\LC4,,11194494L’2)93 |y o ol

Tl 004 031 HiInled W jugio (03,1380 § iyl 6950 pj JUio )

1 intvar = 10;

2 floatVar = 12.5;

3 boolVar = True;

4 StringVar = "Hello World!";

5 listvar = [1,5,8];

6 tuplevar = ("Python","Programming","begginer");
7 dictionaryVar = {'Name': 'jack', ‘family': 'Scalia’,
8

9 print("intVar = {@}" .format(intvar));

10 print("floatvar = {0}" .format(floatVar));

11  print("boolvar = {@}" .format(boolvar));
12  print("Stringvar = {@}" .format(Stringvar));

13  print("listvar = {0}" .format(listVar));
14  print("tuplevar = {0}" .format(tuplevar));

12 print("dictionaryvVar = {0}" .format(dictionaryVar));

intvar = 10
floatVar = 12.5

boolVar = True

StringVar = Hello World!

Age': 7}
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listvar = [1, 5, 8]

tuplevVar = ('Python', 'Programming', 'begginer')

dictionaryvar = {'Name': 'jack', 'family': 'Scalia', 'Age': 7}

o3l> yolaisl ST 4 a5 (g)lado @ i |) juio E5 (el Tlumz o ¢l Eg Lol .35 634 Lyy=i W juio -V bghs >
034 631> yolais! (T 4 (gl Ay Hlade o (92 ] diidy g5 1 F o5 )5 StringVar jusie g5 Wie .35 (5o J5 )3 394 (50
1wl 034 0313 Yolais! ()T 4 a5 (gl 831> Egi g Cuuwl 0add Layyei jusio Su O L5 )3 L3S azgi YL AS Y g & B bghs ¢ .l
51 Ll dlusg @ (T S5 (gl @] g 39 (50 )5 @ [] coMe 1ist cayyei (gly i oyl Ju8 ()3 ;3 a5 johilaw .cawl list Eg

1098 (5o 2> o
listvar = [1, 5, 8];

Crole (gl @) tuple (iyyed ) sl 0db 031> olaisl T & tuple €4 labo S g Cuwl 634 iy yei jusie Sy @d £ b3 >
gyl (6,uiSad £65 < Y b3 ) Lol g @i ;0 pudgd yidiw T (gl Guyd )3 1) 95 ¢l (o Woldi .3gd (o s3latiwl () j1 ]

1355 (50l , Cuole po Woylaio/3ulS (a9 1 Caole Hlabo g AlS (o (5HuinSd LiyyeS (gl .l 634
dictionaryVar = {Keyl:Valuel, Key2:Value2, Key3:Value3};

S SO s g @l 0315 518 () LolS CaoMe LgiT (p0 a5 3515 5lade/aulS b @il dw a5 @il 83,5 Layye’ (6,winSys S Vb Jlio jd Wio

13,5 Jac pj Oygo ) (lgi (5o pusie Mz @ lade SO GolaiBl (glp .l 4i8)S )8 1 Cole (T @ bgyye Hlide g
identifierl = identifier2 = ... indentifierN = Value;
1S 4298 o JUe @

numl = num2 = num3 = num4 = num5 = 10;
messagel = message2 = message3 = "Hello World!";

print(numl);
print(num4);
print(messagel);
print(message3);

10
10
Hello World!

Hello World!
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9 00D 0)u>d aBdl> ) No lado (i) 39 (50 031D Lawass dbils Gl SO YL Cdls ) sad Lyl (oo (gl 45 JuS Cdd
35 Cyyel |y yugie Mz ¢lgl (o (Haisad (AS (50 o)Ll dbadls 1 B> T4 nUMS g numd g num3 g nUM2 g numl (gloyusio

1 3ga Gasuiwe (gl BB 1as Hlaie o o 5l S sl g
identifierl, identifier2, ... indentifierN = Valuel, Value2, ... ValueN;
1S 29l pj JUe

numl, num2, messagel = 10, 12.5, "Hello World!";

print(numl);
print(num2);
print(messagel);

10
12.5

Hello World!

Pl o a5 )18 T L " caode SB35 &S CunldyiSHS 5l degamo S Juol ) didy S (a23)S 8Ll @ Ji8 () 5> a5 jobilas
.\94.0 (Cd 69)44) o )l d.A.u)) )) LQ))_ISI)LS L).u.)o.\)l A L,AD)_\.U.)) dJlS U»u.\.)l UT 4.Lu.09 L8} aS Cawl U.uu.\.)l k&) (SI)IJ LD).ASI)IS ()‘)l )l

P3S 4295 pj diib)

message = "Hello World!";
P35 4293 05 JSb 4 yige )3 sl cwl Bl 0,585 pua Sl Vb dii) )
Hello World !
012345678910 11
feaiS Jac pj ©)90 ) & CuwdlS diddy ol 51 (W Jio) ySHE S0 @l sl Jl=
message = "Hello World! ";
print(message[6]);

Ol Uwdl o dig)S J51 5> g didg)S uas Sy ol (gol ) «didigh |y jusio Eb a5 CumdlS 1S (0 830 lie YU A5 ) a5 jghilan

1A (0 Guo poTuple g List 390 )0 Guadil jledlasiwl b jlade ol auwngin |) 390 il @wles (10 a5 |y ()55 H)5

listVvar
tuplevar

[1, 5, 8];
("Python", "Programming", "begginer");
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print(listVvar[2]);
print(tuplevar[1]);

8

Programming

1394 8315 inlad Lad (glp )T jlade B aumygh |y 3ulS pb U Lads ((6,iuinSes 3y90 53 Lol g
dictionaryVar = {'Name': 'jack', 'Family': 'Scalia‘', 'Age': 7}
print(dictionaryVar['Family']);
Scalia
Pl gl lad g 2bh (5295 )0 j1 AlgT (50 (6P )5 B)lade/34lS &S Cawl ol @S 0)Lidl YT &) il )5l yigy oS (gl iS5
P35 4298 i JUo @ L damnghy G55 1) 3l U 3L 35 SO @ bgype jlade
dictionaryvar = {1:'Jack', '2':'Scalia‘', 3:7}
print(dictionaryVvar['2']);

Scalia

g4
dictionaryvar = {1:'Jack', '2':'Scalia‘', 3:7}

print(dictionaryvar[2]);

Traceback (most recent call last):

File "C:/MyFirstProgram.py"”, line 3, in

print(dictionaryVar[2]);

KeyError: 2

(Placeholders),lagSils>
9 Cawl 6345 (g3 LB didy SO Jol Cawd .l 834D @umid Coawd 93 ) Lo (] A4S a5 (3-10) bghs ;> print() Yie 4
03lawl 3590 634 (g3 LB iy Jowgs a5 Cuwl (gydlio by Hlado (ghls a5 cuwl format() pb @ (guie Jold o 093 Caawnd g
dac il .l 034 juamo VST 93 J515 53 a5 sl (g 00 dac (ghld 0aub (gai LB aidhy 3uiS o5 s @ )51 .35,u5 50 )8

Ao J515 5> a5 (gpolie b Hlade alwg slacl ¢l .agS (50 )lagSls slacl ¢l 4 .36b N B o 1 Blgise SYgST 93 J51s
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Hh8 T 5 format() sse J=Is jlade gl a5 Cauwlize ¢l @ {0} l3gl> Jlio lgic 4 . Mg 350l siwe format()

3S 4295 ) IS @ callae A (pibg) Sl 0S50

print("The values are {0}, {1}, {2}, and {3}.".format(valuel, value2, value3, value4d));

i J i i |

}.".format (valuel, value2, valuel3, value4)):

1]
n
u
~
1]

print ("The v

[31]

e 2L ol 35 6xdis 63,9T Format() die J515 5 a5 (53l 31325 b 13U boylagSils dlaws . Mg 50 Egpib yauo jl o)lagSils
IS5l Gl 20K J05 5> 035 gy B i) 1 a2 3T (sl @@ 130 )l 30 by €ibls VU Jio )lagSile Loz Ladd )ST JUie
h g deliy 0510 &5 (SluS (gl poeie ol dsagd Il )d .39d (0 )AL ke aegd b )l L2 (aegd 9 )laie (yalgl b

23,5 LolgS a3 lie 350 ¢l 53 (630 (slellio 835LT (Slew)d )3 Lol sl Cudrun 3il63,S Eg i

=
Lo, Slec g ilylue
1204 LT dalS 95 b 1ol
LAB3e plaul pols Jlacl & diiwd ywoles HSlac o

A0 plool Glae Ll (6o 33 )Slac a5 (guslie :aiglac @

A0 Ol 4 )Slac + Colle g Mglae Y g X T 53 a5 cuwl eylie S 1 X+Y Wio

dlaz j| alize (s)Slac (ghl> ol Mo Gl @ b Joae izl 1 &5 Aiwd (le)Slee (Sh1s 132 Gungs 40by (Sl
2)S o)Ll i3 9 gez> Slac @) lgize (60 03l Slo)Slec jI AbLo i § Gikie (Slauwnlio (pauais (0L ) Slas
2313 3929 gl )3 yles Eg5 aw

31> 5L Jglae S & (Unary) - S5

I3 5L5 Aiglac 93 4y (Binary) - (129393

3> 5L Vglac aw 4 (Ternary) - (U dw

51 335)le 35,550 H1)8 Casu 390 Gindu l )3 & Klac calize Elgil
o) loSlac o
9 P lem /: °

Glawlio glo)Slac  ®
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ko s)Slac o

L,_’i,g(_ng)iJA.c .

oL o) Slac

1330 Gl | gl 0L leySlac ) Joaz A5 (e 03kl Bluwlxe plzil gl (6L Glo)Slac 5l Heb

Aoy JUio >  HSlac
var3 gvar2 ge> Jol> b cwl plp Varl varl = var2 + var3; Binary +
var3 gvar2 g)as Jol> b cwl plp Varl varl = var2 - var3; Binary -
var3 s var2 opalol> b cwl plp Varl varl = var2 * var3; Binary *
var3 pvar2 puds Jol> b cwl plp Varl varl = var2 / var3; Binary /
var3 g var2 auuds o33l b cwl nlp Varl varl = var2 % var3; Binary %
var3 glgi awvar2 Hlade b cawl ply Varl varl = var2 ** var3; Unary ok

Gygo ) doui) vard  p awwds var2 b cuwl ply Varl
varl

var2 // var3; Unary //
(39 (50 031> il pusuo

©lp + Sdac 1,31 .51 (Sglatie dsui (glaidy Egb (sl (0L (sloSlac jl oslisiw] Lol .l 634 o3laim] (g33e Eg5 jI 4> YU JLie
0Ly o) Slac 3)Slac 6920 doliy o ol b pwilgiso Jlo . Slunz (50 @ 41 § 63,5 CuSys @ b |y didd) 93 auiS odlaviw| Lo diids,

S oL b ool o

1 #Assign test values

2 numl = 5;

3 num2 = 3;

4

5 #Demonstrate use of mathematical operators

6 print("The sum of {@} and {1} is {2}." .format(numl, num2, (numl + num2)));
7 print("The difference of {0} and {1} is {2}." .format(numl, num2, (numl - num2)));
8 print("The product of {0} and {1} is {2}." .format(numl, num2, (numl * num2)));
9 print("The quotient of {@} and {1} is {2:.2f}." .format(numl, num2, (numl / num2)));
10 print("The remainder of {0} divided by {1} is {2}." .format(numl, num2, (numl % num2)));
11 print("The result of {0} power {1} is {2}." .format(numl, num2, (numl ** num2)));
12 print("The quotient of {@} and {1} is {2}." .format(numl, num2, (numl // num2)));
13

14  #Demonstrate concatenation on strings using the + operator
15 msgl = "Hello ";

16 msg2 = "World!";

17 print(msgl + msg2);

The sum of 5 and 3 is 8.

The difference of 5 and 3 is 2.
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The product of 5 and 3 is 15.

The quotient of 5 and 3 is 1.67.

The remainder of 5 divided by 3 is 2.
The result of 5 power 3 is 125.

The quotient of 5 and 3 is 1.

Hello World!

ol oslaiwl Wglaie (gylaw 53 gl ol s gy print() Lo jl aeby ol )3 2230 Wi |) W)lic ;o azD Vb doly
020 o ol > {2:.2F} L euS(oe edlawl {2:.2F} 1 abl @8) 93 Juolo dac jl amy (gpwS pB)l Sl (gl 1 b3 5> L]
S (50 030l 1Y b5 55 13,550 00050 |y (I (Lad g dbold g 13> b (el .00 Givlad Hlicl @8) 93 B |y 3ac a5 Cuwlizo

“IWorld” ¢ “Hello “ 4alS 93 H¥luuz glp + Xlac jl odlaiwl douis . Blosss Jaie g @ + ,Slac dluwg & didsy 93 45
B> 5 4oly (5295 1 A5 B ) LT )51 3uiS d>g5 dalS (gl jl Ay (I slodlold 4. dg9» solg> “IHello World” i,

F Aigdd( 0

(G559l ) avass g)Slac
I8 a Chaw o 5 1) 395 Cuwly Claw pusio Hlade )Slac ¢l 35l pb GRals gloySlac 0ol sloySlac 51,505 E9

P30 ol |) gl ) avass gySlac Elgil ) Joaz i3

aox i Jue Slac

var2 )lade b cuwl plyp varl )labe varl = var2; =

var2 g varl ges Jol> b cwl ply varl jlade varl += var2; e
var2 g varl @)és Jols> b cwl ply varl jlase varl -= var2; -=
var2 ;> varl oo Jol> b cwl plp varl labe varl *= var2; *=
var2 y varl auwss Jols b cwl ply varl jlase varl /= var2; /=
var2 , varl auwis edilodl b el ply varl lase varl %= var2; %=
var2 plgi 4 varl b cwl ply varl lage varl **= var2; Xk

var2 , varl puwds Jol> b cwl plp varl lade varl //= var2; //=

Wio .cawl A5 )3 gl Aol Eg5 S &8lg o L{b)i.Lq.c E9 o2l 5l eslatiwl 5,5 eslatiuwl ()lgis0 ju aiddy 95 JLasl glyp += )ihx.c)l

2350 i |) 395 (L (Sloj (murgaS wlls ¢l . aibbe varl = varl + var2 o)go avarl += var2 S Glol JSb

12350 s W yusio p ) l@T)u;b 9 (avass Lng)f.Lm: 5l esleciwl (_,fu9§.>)J) 4oly .3l (HVgb Woyusio U a5
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print("Assigning 10 to number...");
number = 10;
print("Number = {@}" .format(number));

print("Adding 10 to number...");
number += 10;
print("Number = {@}" .format(number));

print("Subtracting 10 from number...");
number -= 10;
print("Number = {0}" .format(number));

Assigning 10 to number...

Number = 10

Adding 10 to number...

Number = 20
Subtracting 10 from number...

Number = 10

Ll 0340 0313 polais! (T @ = Slac jl esliiul L1 Hlado g jusio SO 1AD] . Cunl 014 03lwiwl (pavasd Slac W jl dabiy 5>

cCawl AMIQSOT)'I o dde -=)§.Ln.cd.le.uu9 4.))_">T).)9 Ll 634 adLoI o Hlade +=)§J.m:)'| o3laiwl L OTQ‘.‘U“*#“’

! aunlio (gl ySloc
4_'>.A_u)§| Lm)ilm: o2l sl (ikie) (g Hlade SO pslho (pl doui. dgibs0 03wl y3lie dwylio (glp (Glawslie LgL(b)ilA.c b1
lygiwd 53 Joamo job @ loySlac ()l 2350 Wi |y o jlade 3L oluidsl dwlie dsui )51 91 )lade 3bb Cus)yd Hlaboe 93 duylie

Ol 1) gsialy )> Glawnlio ()Sles 05 J9az . 3igdiz0 Byl ysiwd B3 b aols] Cacl &S wa)S (al 4 Wgy50 ) @ by

LADd( 50

Wygaizl jue )3 3wl plp var3d jlade b var2 )lade a5 cuwl True ()90 )3 varl
varl = var2 == var3 ==

cwl False

Wyguaizl ju )3 Al ply var3 Hladoe L var2 )lade a5 el True (J5)go )> varl
varl = var2 != var3 =

cuwwl False

Wyguail jue )3 Adls plp var3 Hlade L var2 Hlade a5 el True (JS)go )> varl
varl = var2 <> var3 <>

cwl False
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2E ) AL Hlade var3 jl 5 S2eS var2 Hlade a5 cuwl True ()go ) varl

varl = var2 < var3 <

cwl False w)gail

&ygail e )3 Jbl var3 Hladejl )5S0 var2 Hlade a5 cusl True (g )3 varl
varl = var2 > var3 >

cwl False

)d Mbb var3 Hlade golwe b 5 S>¢S var2 Hlade a5 cawl True (g0 ) varl
varl = var2 <= var3 <=

cwl False w)gaigl jue

2€ 53 2L Hlade var3 golme b )5Sy var2 Hlaie a5 cuwl True (3ygo )5 varl
varl = var2 >= var3 >=

cwl False w)guaisl

1A 50 liv | Ltb).fJ.a.c o2l 3)Slac 69 5 dobiy

numl = 10;
num2 = 5;
print("{0} == {1} : {2}" .format(numl, num2, numl == num2));
print("{e} !'= {1} : {2}" .format(numl, num2, numl != num2));
print("{0} <> {1} : {2}" .format(numl, num2, numl != num2));

!

!
print("{0} < {1} : {2}" .format(numl, num2, numl < num2));
print("{0} > {1} : {2}" .format(numl, num2, numl > num2));

print("{0} <= {1} : {2}" .format(numl, num2, numl <= num2));
print("{6} >= {1} : {2}" .format(numl, num2, numl >= num2));

il eslatiwl b G a3 50 Gobaisl (gylae il 4 g 63,5 Sloul |y @uiS duwslio o b @ulg> 10 a5 |y jugie 93 1ol YL JUis >
== Slac j| i 93 duglio pKie a5 1S dzgs iS5 (ol 4 .puiS e Ll |y doui § 03,5 dunlio po b 1y Il (glawglio Slac S
Aods0 polaisl X @yl y Hlade x =y aile JHle 5 g Cuwl (pasasd Slac = Slac .39 edlaiwl 1L = Slac gl @

Y b cwl ply X 3950 035l johisl g X==y 3ile 350 dumlioe 0 b 1) jlade 93 a5 Cusl (glawglio )Slac == Klac
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32 (Slebyib (sl lél 1o)Slac ol 1. Caml gy )lade SO 55 LT douis 9 WS (0 Jae Gikie Ohlic (59) p ikio (o)Slec

)ldie g3 var3 g var2 45 auS (69 .3l True L False ailgs ;o (g y3lioe 38,5 db Wib S johilad .36 (50 63latwl

varl = var2 and var3; and
varl = var2 or var3; or
varl = not (varl); not

and (;ikio ,Slac
1693y b p3lie 51 o S| Oyguail jué 53 1135 5o p ) True jlade and Xlac 3ibb True @nd Xlac WByb 93 ydlio )51

Tl 034b 0313 (L and Slac Sy J9dz 1543 31,5 (50 |y False jladoe 2idb False Lol

X Y X and Y
True True True
True False False

False True False
False False False

Vglac 93 @ 45 33 (o Ui ) True jlade (g0 ;> bid Slac ¢l &5 @S (50 (5y91 Sb and Slac 56 yig S)s (gl
) Xlac 1 03liiwl Aisle and )Slac jl oslaiuwl .2 Aolg> False (gas (slowSys plod Ao Oyguail jué )3.00L True Lb)laie

b Yoo 51 iS=gS salary g A 1,55 (age) gw )S1cwl (True) cusyd pj )lie asud Jlio glgic 4 .l (gl dmylio

result = (age > 18) and (salary < 1000);

X a5 Cunl (size (110 <= X <= 100 <)lic Wie .l )5 gyw slacl jl (pols 3930 b Lo a5 sl 3ol)lS (Hiloj and Xlec

Wygo 4 and ikie Slac jl (lgi (50 639350 (1l jl 215 dlacl Ll glp Jlo .350 |y Yoo 1 o slacl Jolis (g)laie Lilgi (0

23S odlasiwl 55

inRange = (number <= 10) and (number >= 100);
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or Lihio ,Slec
or )Slac (iw)yd Jodz .315)5 0 |y True jlade or Slac il (True) cusyd or Slac Byb 93 jlade 93 0 b S )S]

DGl 024 631> LS 5

X Y X or Y
True True True
True False True

False True True
False False False

)31y 5 a5 .0l False (T Wyb g3 yslie a5 115)5ue p |y False jlade ()0 ;> or Xlac 45 3uiS (0 630Uk YU Jgaz 5o

2l 0y b L YO 1 35,0 (finalGrade) jgel Lisls (Rl 4y a5 Cwl (True) Cunyd (55)90 )3 35 ¢l dou. 0,50 b

. .).uub Yoo UT UlD_J.ol

isPassed = (finalGrade >= 75) or (finalExam == 100);

not t:abi" )SJAC/
SWaol b )lade S Slac (1 .3)15 5L Jglae SO @ ks 9wl (550 ,Slec S NOT (ihis )Slac and g or 295021 95 BVSy
9910l 3,Slac yj Jodz .S (0 True 1T asl False )S1g False 1T aiblb True )lade b esjle )51V LA (o (585 |y (Jo

1A (50 gliv ) NOT

X not X
True False
False True

3 A (golwo b 3550 (pw) age a5 Cunl Cunyd (5590 )3 35 35 Ao

isMinor = not(age >= 18);

i gleyNlac
Ladd 45 3gib(s0 duogs (w)d ol yigd )3 (gl L3S (6w |y oosls Elgil (6l JSib &5 3idd 50 ojlal Lads @1 (i (slo,Slac

1403250 3L 505 S ) (6L © GBS Slacl JaasS 0925 9 (5L i

http://www.w3-farsi.com/?p=5698
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YA 09k b e 1 Jgl Juad

0y Gl (15 LIS gl gy b Cawl Gh9el> b juz o by 3S (0 odlaiul (T j1 SguelS 45 (29399) (5l s )>
b dlacl 3iab SO b yauo ABlgi e bid (65l slacl pplply 3950 03wl 0 dac il Higels cdle (ol lis gl 9 ) dac
03533 (3l b 4 g Cuwl (6l @) S 63D liv Cay S L3095 (5o Vo (gline )3 slacl |y (g)liel slacl g ¥ (glas )3 slacl |
Slael a5 Canlizo (3 ¢l qanyld jL T 0,53 (gl Lad cob F L o WY ¢ int 65 5l 0313 SO (gl Jlio ylgic 4 .l cup A
 pgapolS )3 3980 0a23 ANt Egi I o S plgic 4 B9 oo dae Jlio gy WS (e o3laiml 015 (sl ) g 0 8) MY

139450 033lgS )05 )90

000000000000000000000000000001100100

Gl g Cawl ¥ (gliso 53 loo dac 0300 (i Cawly Cuaw @8y V ligl )3 .l ¥ (glio )3 Neoloo dac Jolo 63 (glino jd Yoo dac
Cawly Cuaw jl (650 dlacl a5 365 dzgs a5 ol @ .3l 5o int Eoi 5l dae &5 Cwl (Rlin 9355 R P Cwl) Caw Goyao

Faslosid 0315 UiS ) J932 )3 09b i s12ySlas 940 0 3l9S az 4

Je o
X =y & z; &
x=y | z; I
X =y " z; n
X = ~y; .
X &= y; &=
x |=y; |=
X "=y; N=
AND (&) (sias ySkac

Gyb 93 p3lie )31 .85 50 )15 Lot (59 0 ySdac (1l &S iglas ¢l b A0 plosl AND (ihie Slac dudbs ()5 AND (i Slac

250> AND (5 Sac (i) 932 . 3515550 20 1y yo jlaiie 3L yao ()T Byb 93 30 b 552 ST 9 31,550 2 ) ) jlade 3bb ) T

HOWI PRy
X Y X AND Y
1 1 1
1 (%} (%}
0 1 0
0 (%} (%}

tCuwl 030l AND (i )Slac j1 o3kl 692 435 5

result = 5 & 3;
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print(result);

45 ariaw o o)l g0 Sy d3e ¥ g O Hlade 93 59y p AND jSlac 3,Slac doui AuiS(5e 63mlie YU Jlie ) a5 jghilen
0o Cawd @ |y a2 ol johe

5: 00000000000000000000000000000101
3. 00000000000000000000000000000011

1: 0©00000000000000000000000000000001
Gl 9355 3 (slp yio jl Cuol oy WP (int) pusuo dac yo aSuladT jl L 3gd 0 Jaad gligyisb Jsleo 4 ¥ g O dac g lakl

L 3gad (50 S0 e douh [y a5 duegd vlgie AND (iw Slac (iw)d Joaz jl edliiwl b .auiS (50 63l (JIs

OR(|) iws ySlac

030l y3j 53 Slac ¢pl Gy Jodz .2 aolgs | &ygail jué jd yao doui 3l o 93 @ OR iw ySlac WByb 93 yslio )SI

sl

X OR Y Y X
1 1 1
1 0 1
1 1 9
Q 0 9

SO douib Al S Jglae 93 51 (o kb 51 .35dL Hhuo (T Wb 93 lodiglac a5 Cwl yiuo (g0 )3 OR (iw Slac doui

P35 4295 pj Jle 4 b JoleS>

result = 7 | 9;
print(result);

15

2 ol 2 &S paiS 50 Gwyp YL 3900 10 4 @uiS(5e o3kl (3 9 V) Vb Jlio )3 ylaie 93 (g OR (s ylec jl o5 (89

Tl 8307 Caws @y

7: 00000000000000000000000000000111
9: 00000000000000000000000000001001

15: 00000000000000000000000000001111
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2umuo 10 33 Jalee (6l W sac 31y Gausis |y )Slac (¢l 1 eslaiuwl axyi (ylgie OR (iw )Slac (iuw)d Jgaz jl eslatiwl b

. Cawl

XOR(") (iw yShac
Tl 030l 5 53 Klac ol iwyd Jgd=>
X XOR Y Y X
0 1 1
1 (4 1
1 1 9
0 (] 0

25 Jlio )3 38id (0 S azih )ygaial juf )3 Hiuo Azl JbL S 93,0 b a0 93 0 Slac (ol Byb 93 s Niglac 4500 )
1S 50 oo line 1380 93 (69, 2 ) XOR (i ,§ OC):Q:\';U
result = 5 ~ 7;

print(result);

<ol 034 831> LS (Y g B) YU slael (500 Jaleo 5 5>

5. 00000000000000000000000000000101
7. ©0000000000000000000000000000111

2. 00000000000000000000000000000010

L3950 ¥ 3Ac doui |2 45 Aaegd lgise XOR (siw )5LJL e > J93z @ 035 o5

NOT (~) (siw ySlac

teanl o0l JSlac ¢l iawyd Jeaz y1j 53 315 jLS diglae G @ hid g cunl (S ;Slae SO Slac ¢l
NOT X X
0 1
1 0

twl 030l JSlac (il 5l o3liiwl (55952 15 5> A5 (50 (W9S2e | Lot palie NOT (i Xlac
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result =5 ~ 7;

print(result);

< dnlad d>g3 ol 8aub 6315 (LS 5 )> a5 Vb JUe (5l pinls @

7: 00000000000000000000000000000111

-8: 11111111111111111111111111111000

(shift)\Ke yuuds s Slec
6))1359?90&9)&5&3(33&)&:6939)..\,}ifl?d.;L?wl)lg%wd.gl)lqj,gd.s.\imobpoﬂ?llmi’)d.glm).iln.céywl
b Connls Gls dlaes Cusly Cuaw Bglac g )lade S (b Clls bySlac (| iz Coaw Viglac 2S5 Jgu8 Aiglac 9 plaS o

DS 50 Uluu I)

Jle ©b Slac
X =y << 2; G2 G @ oS0y >>
X=y>> 2; wul)umud.)ul_in).a.am <<

A0 Jilie iz Claw 4 ) Coaw Biglac bawgi 634 Gasuie (e N dlaei @ 1) Lz Caw Jglae (gloin Slac ¢l
s dle plgic
result = 10 << 2;

print(result);

TS )y |y Jeol qu).uL Anoly Jlo qled)S Jitio taz Chaw 4 (50 93 |y 1o Hlade glocuw Lo YL Jlio o

10: ©0000000000000000000000000001010

40: 00000000000000000000000000101000
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3950 @S a2 Chow o000 I Hauo 93 JWEGI (gl ) 35ledd Jiiie taz Chaw 4y 3lg 93 051851 ) ocuy dad 45 iS50 030l

<3940 A8Lo] Cuwly Craw 4y ya0 93 yo9e jd g

Cawly Coaw 4 (91K pauiti Slac

1 b laic b A0 o b Lo Cuuwly Caw @ 1) o a5 @glad ¢l b cawl tas Caw @ (5o ,uei }Sac & daudd yXlae ¢yl
Qlgre © [Col gl ) 2D 9 2! R A7 2 OOR ) 4 o2
result = 100 >> 4;

print(result);

).ui.) L o)l L auiS e Lo G o Lz Cuaw 43 3lg Fojlasl @ ) leo jlade (o Cunly Craw @ Ko juussSlac 1 o5lasiuwl b
a3 )hS Gwyp 390 b (pl2 @ 1> 2l

100: 00000000000V RVVVV1100100

6: 00000000000000000000000VVV0110
BLA| iz Chow @ 00 )lgz g 034 Wis Cawly Cuaw Jol taw F plply g s0 Jiiie Cawl) Crow 4 alg Fojlasl 4 e yo

- d94b(50

ueld g )ilo.c
FABL0 ) el )Sles (Sh1> gl (b )SS (9IS U oS (e)Slac p ogMle
Llist i) (jozae (Sequence) dcgame S 3 Hb5 3)90 puie LT iS50 (o) 45 membership glo,Slac o
<322 b 3)l> d9>gtuple
22 2 b (549> LT M50 (s))2) AS (50 dunlio o b |) 25 93 (5545 )18 (solSe &5 Identity (glo)Slac o
1 3losis ,S5> Identity ¢ membership (glo)Slac Elgil 5 Joas o
ooy SSlac
o2l 1€ )3 9 True i jasuine (Gacgamo )d Hhai 3)90 pusio (L W90 )

B in Memberships operator
. 315)S (5o |y False gm0
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)d 9 True b jasuiv (gacgamo )3y 3)g0 ke (Hduin) Cadly )0 )d

not in
. 313)S Gep |y False <jgo ol jué
3 9 True b aibls o)Ll Sy 4 @ Slac Byb 93 10 (o yusio )51
is
13,5 Gep |y False <jgo ol jué
Identity operator
is not

L313)S 5o p Iy True Oyguo il jué
135 4293 pj sloJle @

print(5 in [3, 8, 5, 10]);
print(5 not in [3, 8, 5, 10]);

True

False

0313)5 » True Hlaie 315 3929 ()92 ¢ T4 b 313 3929 [3, 8, 5, 10] dcgamne )3 O d3c LT a5 3910 S VU AT Jgl b5 >

092 (539 394550 03313)3 3 True laie Ll didsly 3929 degamae )3 B 3ac )51 45 Cuwl Hasuie WolS 45 @ pgd s > .3gd 50

. 3gdd50 03513,5) False Hlaioe 3yl 3929 O sac

numberl = 5;
number2 = 6;
print(numberl is number2);

print(numberl is not number2);

True

False

aunlio )3 g False ,lado Cund iz ()92 9 Caslnumber2  ylao numberl LT dS Cuol 634 disS awplio (gl 53 ¢ YU JUio )

sl 0345 03513,5) True Hladoe i ply (92 9 s number2 ply numberl LT 4S Cuwl 64 4isS e pgd

25 51 639)9 (i85
RS S el wawlan dio ol pU 51 a5 jghilad . a03(50 )y Lads HLiidl )5 )15 51 (639)9 (i8)S slp ) ()input i peily

T3S dzgd o Aol 4 . LlgS e je henter oSy a5 (Siloj U duiS(50 ¢l ungs 4oy kymo pd law a5 )

name input("Enter your name: ");

input("Enter your age: ");

Q
o
(]
I
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height = input("Enter your height: ");

#Print a blank line
print();

#Show the details you typed

print(“"Name is {@}.".format(name));
print("Age is {0}.".format(age));
print("Height is {@}.".format(height));

3
4
5
6
7
8
9
1
1

Enter your name: John
Enter your age: 18
Enter your height: 160.5

™)

Name is John.
Age is 18.
Height is 160.5.

(1 b3) 35S 3)lg ) 395 b a5 aolgS 0 y3)l5 51 deliy (W g ¥ g ) bghs) @uS s wiyyei dolip 53 6315 0,usd (gl 1) jusie W labl
@ dbold b G @ £ b ) (P b)) 3Se Jlbw |y Lo jl dolip Guaw 36550 3lg 1) 395 pb )5 (lgic & laid ¥ b5 )
L g03)S hally doliy Jlo .39 dloul SuSad cags (gl dbold ;29,5 g Lad (s (639)9 (30 U @l 63,5 syl print() o aluwg

<3S 0o lino |y amuis )25 3)90 pdldo (43,5 3)lg

Qaasal gy, lislw
fraeual il (Sh1 40l S 45 345 y9ua Jl= . 203 (0 phekae Blyid )3 1) 35 (gh2l 6l ladb ) ungs 40l (SliL) ded Ly
algi Lads 45 315 46)8 (g WL Camlin 4o 53 el S Gl (gl B LD > ] 55 ol |y LS dad 9 2L (55
Gilise slo ol oyl 3 le> azlge JSire b By T 29 lz plan S g 1L ol 23e S b e S lade S

P 30195 LT j cdlhe b Gido ool )3 303 (50 Sl Mo E95 2l &) (sl
ifygiwd o
if.elsejgiws o
U aw Slac o
Gz if jgiws o
99295 if jgiws e

ke Lglm)ila.c °
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if )S.uu” N}
1f jgiws w5 Lol S95 aaliy 4 Ghie Ky Sedise 35 Ky dlagl cucly a5 Gols byds Sy o i g jl osliinl b olgice

tCwl o Oygo @ 1 Hgiwd Hlisle .63 plsol | Guse A Cusl HIB by (51 19550 dely a5 Cawl by Hgiwd (1)565Lw

if (condition):

code to execute

O)lie S byd 90 hl 85 Gugw 3B Cawyd Giga AbL HhB byid ST 390 Gy by il 1 Hgiws (ghel 51 g
0920 @ 00 a5 3wy ojlal 3,5 ealiiwl by 539y oliibl b Cuwyd s (gl (glawslio lo,Slac 1 ¢lgise .l (glamslio
Sy Goodbye World g \e jl yiaS number )lais ,S11yHello World plew yj 4oy .ejlain dely Jo15 55 if jgiw jl oslatiwl

1AL Uinlad dxio )3 36 355 1o I number )lade

#Declare a variable and set it a value less than 10
number = 5;

1

2

3

4 #If the value of number is less than 10
5 if (number < 10):

6 print("Hello World.");

7

8

#Change the value of a number to a value which is greater than 10
9 number = 15;

11 #If the value of number is greater than 10
12 if (number > 10):
13 print("Goodbye World.");

Hello World.

Goodbye World.

4oly @y yo ¥ b3 53 if jgiwd (gl 4 (S8 .l 624 0313 polais! ()T 4 O Hlads g Ciyyel number b b psio Sy Y b >

<l Vo jl )5 S2gS B (i) Cawl yiaS Yo jl number jlade a5 33 0 Houdui
2950 wlz Hello World plew o (£ k) 35S0 ol ) jgiwd 1F joiws ¢plplo cdblbse Cunyd duglie asud a5 Cuwl ikio
auglio Yo b |y number )lado doly @uwy 50 IV b5 )5 if )giwd (paogd & ;189 .(3 b3) @350 ;uei 10 @ |y number )lads Jl>
dzgi 4S5 (ol 4 (W k) 3S e ol 1) Goodbye World ples doly cauwl 555 1o 5110 (sizy number )laio ()92 ¢ AiS(50

teaing b O )0 glgige |) if jgiwd a5 23S

if (number > 10): print("Goodbye World.");

3 5w M Lyl 0950 bl S (X8) oF 4 liwlg> 45 CumadlS L auug if jgiwd J15 53 |y jgiwd iz 3wlgie Lab

tewl pj @y 4 if Gy Y5



L 09k b e 1 Jgl Juad

if (condition)

statementl;
statement2;
statementN;
103l JUo SO po ol
X = 15;
if (x > 10):

print("x is greater than 10.");

print("This is still part of the if statement.");

1o 51 X lado g @uiS Wi 1) 5T ba (Si8) o5 ¢ Jlie glgic 4 )51 Jlo 3gdb0 il plaw 93 2bb 55,5 1o 51 X jlade )51 YL Jlie 5o
15 A5 Aile abls 555
X = 5;
if (x > 10):

print("x is greater than 10.");
print("This is not part of the if statement.");

eI3S) Aol Wlygiws o oS 39450 03l95 yig) ()90 > YU AS

X = 5;

if (x > 10):
print("x is greater than 10.");

print("This is not part of the if statement.");
Cawl )5S 295 Vo 51 X Hlade a5 @laisliS ¢l p 1y 06)d bo (o2 &5 Cusloil s 1F Hgiwd j= Vb JUo )3 (5T jgiwd a5 L0
pasuie (S98) 63 3929 Caadl Aol )3 L3gdse ol This is not part of the if statement. (Really?)hbs
fol8 51 45 iS5 Ggalyd . aiS Slexal X8 95 S0 o (gl widil> 1F 32 )3 ) gind S aid )5 (> diinaad 2pe5 lgic 4 940
)i 3)90 53 503 (e .3 5o e |y T GBL g oib Las ()3l 3929 4 cucl (Si) 55 Sy izl

firstNumber = input("Enter a number: ");
secondNumber = input("Enter another number: ");

if (firstNumber == secondNumber):
print("{0} == {1}".format(firstNumber, secondNumber));

if (firstNumber != secondNumber):
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print("{0} != {1}".format(firstNumber, secondNumber));

if (firstNumber < secondNumber):
print("{0} < {1}".format(firstNumber, secondNumber));

if (firstNumber > secondNumber):
print("{@} > {1}".format(firstNumber, secondNumber));

if (firstNumber <= secondNumber):
print("{@} <= {1}".format(firstNumber, secondNumber));

if (firstNumber >= secondNumber):
print("{0} >= {1}".format(firstNumber, secondNumber));

Enter a number: 2
Enter another number: 5
2 1=5

2<5

2<=5

Enter a number: 10
Enter another number: 3

10 = 3

10 > 3

10 >= 3

Enter a number: 5
Enter another number: 5

51 639)9 (loic @ ) Mg duwnlio po b cusl LB oS sac g3 1abl @635 eslatiwl if jgiws )3 Glamlio (glo)Slac I Lo
230 lobyds a5 34BL dibly 429l iS5 gl @ 390 Dl (el 39 Sy byl )ST g Visdise aunlio pa b Slael )55

.l (0 Flase L True lado 93 ghld = diiwe (Jo

if..else 95w

wolyz lads &5 (Hloj Lol 394 plasil (ol> )5 392 )85 G )31 iz 390 )5 @ gl > Sy ghal Gl hitd i )giws
if jgiwd Hlisbe .auS odlaiwl if else jgiws jl 1L 39 Lol )50 Hgiwd 395 )18 ;51 9 550wd SO 3 )8 (pols by S|

1wl 020l pj > else

if (condition):
code to execute if condition is true
else:

code to execute if condition is false;
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if 63 Y5 )3 (ol 35 SO hid (S1.5gd 03,5 wif L BL lais aShy 3)S edlatiwl (i 4 ylgisai else (gaulS aals
if jgiwd J2Is by a5 39450 hol (5)90 )d hid else Sgb JoId 35 .l (gyluisl dYgST jl eslasiwl 3y)ls else 4ay g

1wl oaolif else  jgiwd jl aslasiuml 6956 535 53 . Abb Caww)db

number = 5;

#Test the condition
if (number < 10):
print("The number is less than 10.");
else:
print("The number is either greater than or equal to 10.");

coNOUV A WNPRE

9 #Modify value of number
10 number = 15;

12 #Repeat the test to yield a different result
13  if (number < 10):

14 print("The number is less than 10.");
15 else:
16 print("The number is either greater than or equal to 10.");

number is less than 10.

number is either greater than or equal to 10.

092 9 U b Gl yiaS Yo j| numMber ,ueie jlade LT a5 @S0 Cund F b3 )5 g @les,S Liyyei number el @ juio Sy 1 b3
@ i Vo j1 415550 (5)1dde @ g @ud ,uss |y number Hlaie (ST g (V 5) sgds0 lyol if Sols J515 35 asui )5 sl yiaS

(15 k5) d9i50 hol else Sgb J515 a5 g (W Jo3) 39450 Caww)db byiv (1o bs)

if.elif.else ,giwd
O 1) if lhgiws ¢pl &5 Cunl yigr 9 S edlasiwl if jgiwd (paiz jl Jwlgize T3S e H 5 3uiS Ly |) by Nz Ldlg>y )51

Pawgl) R O)g0

if (condition):
code to execute;
else:
if (condition):
code to execute;
else:
if (condition):
code to execute;

else:
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code to execute;

S yiedlw |y YU 35 3wlglise . Sumigs else Sobs J51s 5 (Xi8) o5 Oyg0 @ |y Olyginwd cusl yigs .Cunl S YU 35 (aslgs

if (condition):
code to execute;
elif (condition):
code to execute;
elif (condition):
code to execute;
else:

code to execute;

elif jgiwd .Cunl diwlg if jgiwd @) 55 elif else ailo a5 a6la b 4xi8)S 5L hif else giwd jl esliiwl 69 a5 Jl=
g Lol 50 o )51 g 3050 Lol (g3 e1if jgiwd abb oluidl elif )S1 Jlo 3l oluisl if jgiws (pdgl a5 dgis0 Lol (SiBg

1A 50 ol |y elif)giws jl eslitiwl 6920 yj dobiy 3gd 50 ol else jgiwd eoles )

1 print("What's your favorite color?");

2 print("[1] Black");

3 print("[2] White");

4 print("[3] Blue");

5 print("[4] Red");

6 print("[5] Yellown");

2

8 choice = int(input("Enter your choice: "));

9

16  if (choice == 1):

11 print("You might like my black t-shirt.");

12  elif (choice == 2):

13 print("You might be a clean and tidy person.");
14  elif (choice == 3):

15 print("You might be sad today.");

16 elif (choice == 4):

17 print("You might be inlove right now.");

18 elif (choice == 5):

19 print("Lemon might be your favorite fruit.");
20 else:

21 print("Sorry, your favorite color is not in the choices above.");

What's your favorite color?
[1] Black

[2] White
[3] Blue




€o

09Rb ub) e Jgl Juad

[4] Red
[5] Yellow

Enter your choice: 1

You might like my black t-shirt.

What's your favorite color?
[1] Black

[2] White

[3] Blue

[4] Red

[5] Yellow

Enter your choice: 999
Sorry, your favorite color is not in the choices above.

S 3gd0 Ole Galixe (glgoley 3uS(0 QLD (G2 42 lad a5l O diwy .Cunl diuwlg choice jio 4 Vb dly (29,5

.3gi 50 ol else Sgb 4y bgyyo 35wl Dl il J515 50 35 50 Lol Lab 45 (gdac

¥ if jgiws

S0 if jgiwd Y51 )5 if adkw joiwd O .3y eslatwl (gialy )d 65 )5 ¢ if jgiwd I ylgie

if (condition):
code to execute;
if (condition):
code to execute;
elif (condition):
if (condition):
code to execute;
else:
if (condition):

code to execute;

age = int(input("Enter your age: "));
gender = input("Enter your gender (male/female): ");

if (age > 12):
if (age < 20):

if (gender == "male"):
print("You are a teenage boy.");

else:

print("You are a teenage girl.");

else:

print("You are already an adult.");

else:

T s 1) 93 55 g5 if Hgiwd jl eslatiwl 6900 a5 L) o5l
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13 print("You are still too young.");

Enter your age: 18
Enter your gender: male
You are a teenage boy.

Enter your age: 12
Enter your gender: female
You are still too young.

Ul Lads 1 ylienio 0)b)> ¥ o 53 () ko) wiS 0 Jleo ooliies 6)1)> Ladds 1 aoliyy 3] aniS 8155 IS 1) doly oS 3a08 o5l
1f Hgiwd 630 3)lg el abl Jlo Wl yidiw Lads o )51 Cuawd ol 53 (F b3) dwy0 1 Hgiwd (gl & Guuw 35550
gdise 1f Hgiwd (pueo 4 boye (Y b3) else Sgb 3)lg Oyguaigl jué 53 3950

03oline |y 505 if Hgiwd 93 if (gl ay ;> . Lledds if gl 0 3)lg Laid g Cawl Jw W 51 yidiw Ladd ¢pao a5 @uiS (o8 Jlo
8)b93 (1o b3) wgyie o b )blike else chawd & 23 )51 9 2gde 9> 1F By 3l Ladd AL Yo yiaS (puo )51 3055
lxigl y> (5 b)) Lgdse azlge )50 if SO L g oddb pgd If @ 3)lg Wyguaisl )3 bl Yo jl yiaS Lad uw &5 @uiS(5e 69
Crawd ©ygail pf )3 3980 hol 1 paagw 4539 Y515 (aS bl “Male” nly )S1aS 3,550 )8 w390 lad iz
l) 4ol (Ul ()52 3uS e3laiwl yiaS aoly )3 g5 53 o5 1 ;1 a5 390 gy (A L5) 3gd 50 hol if (il 4 bgye else

3910 1L

(sihio (Slb)il.nc)’l odlasiwl
221 )3 9 iS50 55 )3 1) byds 95 J8lao o Slac ol .35 <ausS)S o b ) byid iz 45 30350 05l ladh ) iikio glo)Slac
Fcanl 03l iihin ()Slac jl 52 2 J9a2 5> S50 1 ) I Hlaie Sy
e Jio e
Obylade Slac Byb 93 byis 93 4@ a5 cusl True (o )d Z Hlaie
False )laie 3L False bgyb jl S lade bid )51 .0kl True z=(x>2) and (y < 10) and
RV S
Slac Byb 93 by 93 5l O &S Cwl True (o ;> Z Hlade
Hlaie b False yliylade by 93 4@ 51 .36b True (lilade z=(x>2)or (y < 10) or
. b wolg>z «False
9o )d 9wl False by )lade a5 cuwl True (J)go )d Z Hlade

z = not(x > 2) not
AL True b, )ladoe a5 cuwl False
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X Hlado a5 cuwl True ply z Hlade (50 53" 1ale30 Wygo (plw ljz = (x > 2) and (y < 10) daz JUs glgic &
5w S )lade aSil glp a5 Cuwline (pay daz ol "Cwl False jgail jué ;3 360 lo jl 5SS Y Hlabe 92 1 55,5
ke yXlac asuis .3yl and ikie )Slac & Cawd (Siglaie p3G or Likie Slac . 3dL True bgyi 4as )lade 1L A6L True
A aolgs False asyi 3l True bgyd jl <o guo Hlado j51g .60 True by jl Sy )lade ks )S1cuwl True ylyor

Fadile 30,15 @ ©)lie S y3 9 03,5 S e L) or g and (sikie )Slac lgie

if ( (x==1) and ( (y > 3) or z < 10) ) ):

#tdo something here
(y > 3) or (z < 10) jlic labl Lyl )5 . @aiS 50 edlaiwl lgbyis (635 89,5 )3 (4T jl (o2 Cuwl pgo jiily jl eslaiuwl Loyl )>

by Jlo 390 aunlio(X == 1) dsuib b and Slac dlwgy o dsui G (o) Slae 385 Cde a3) 3,550 )18 (w0 3590

1 age = int(input("Enter your age: "));

2 gender = input("Enter your gender (male/female): ");
3

4 if (age > 12 and age < 20):

5 if (gender == "male"):

6 print("You are a teenage boy.");

7 else:

8 print("You are a teenage girl.");

9 else:

10 print("You are not a teenager.");

Enter your age: 18
Enter your gender (male/female): female
You are a teenage girl.

Enter you age: 10
Enter your gender (male/female): male
You are not a teenager.

Sz )y Lo cpao aobp (F b5) duwye 1 Hgiwd & (;i8g (F k5) ad0 i |y and ikie )Slac jl e3liiwl 6950 YU doliy
J51 oaS Guus 3L True 93 4o Hlade (sigy (3bb Yo g IV (pu liw) 3L Yo jI yiS2gS g WV 51 45550 lass u ,S1 .05 50
Gz Ceaw Mglac and Slac .3gd 50 ol else Soly J51s (gloas wbb False bgyi jl (S0 dowi )51 . 30gd 50 Lol if Solb
2 .013,550 p Iy False laie g aiS(00 (sa0)p |y Cawly Caw Bglac ;505 2l False T jlade )S1.a23050 j1)8 a0y )90 |y
353550 63030 | Cawly Caw Wglac (maw 1L True o jlade )51 9 3350 518 (o) 3590 |y iz Craw Bglac Or [Slac uSe

L1850 p |y True Hlado g

if (x == 2 and y == 3):

#Some code here
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if (x == 2 or y == 3)

#Some code here
&S 5By b ySlac (pl Ijo Welad .S eslauwl i Slec (lgic & or ¢ and lo,Slac 51 3lgise L a5 Cuwlis] pgo 4SS
@ 22350 )hB (a2 390 Gz Craw Nglae jlaiie (538)5 a3 )5 (g2 |) Viglas 93 & Cuwnl ol )50 ) 4 i yles lgic @
) lebyis )31 .39 50 (2Ll and i )Slac dluwg 43 (a2 Chaw Vglac 1ol False ciz cuaw Mglac Hlade )51 s Jlie glgic
loySlac 51 505 55 2393 Il yigy or g and iw (sloySlac (gls @ or g and ikie (gloySlac jl e3liiwl A4S CuS)s 4ol >
1S dzgd 5 JUe 4. A5 e (ke b (iiS |y )lie SO asuh a5 Cuwl not Slac ikie

if (not(x == 2))

print("x is not equal to 2.");

L3S0 True |y T not Slac b False plp x == 2 &)lc asuin S|

1ol 030l JSlac ¢l jl e3lisiwl 6920 35 53 A0 Joc if.else (byb jgiws Jile Hgisl ;> by Slac
condition_is_true if condition else condition_is_false

a3 )18 w3550 dolip J51 53 1) Klac ol esliiwl 690 45 303 6jl] . Abb Cunydb by a5

1 petl = "puppy";

2 pet2 = "kitten";

3

4 typel = "dog" if (petl == "puppy" ) else "cat";
5 type2 = "cat" if (pet2 == "kitten") else "dog";
6

7  print(typel);

8 print(type2);

dog

cat

typel ,usie ;> 1) dog Hlade a5 3gd 10 damys o ol 4 F bs a0 ol |y by )Slac ¢l jl o3liiwl 69 YU doliy
HlAie a5 950 dazyi Oyguo ol 4 O b ex B typel |y cat jlabe wsygo ¢l jué 53 393 puppy b ply petl jlais )31 e )8

if o jl eslaiwl b 1) YL debyp Jl> .dog lade wyguo ¢l jué )3 390 kitten b ply pet2 jlade )S1oa 1,8 type2 )s |y cat
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if (petl == "puppy"):
typel = "dog";
else:
typel = "cat";
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print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
print("Hello World!");
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while(condition):

code to loop;
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counter = 1;

while (counter <= 10):
print("Hello World!");
counter = counter + 1;
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while(True):

#code to loop
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for iterator_var in sequence:

code to repeat;
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for i in [1, 2, 3, 4, 5, 6, 7, 8, 9, 10]:

print("Number ", i);
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for i in (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):

for i in {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}:
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for iterator_var in sequence:
for iterator_var in sequence:
statements(s)

statements(s)

while expression:
while expression:
statement(s)

statement(s)
51 Olgdie Wie .3)S odlasiwl 505 Egb 515 5 dils E95 SO 1 ¢lgie @S cunl ¢l 315 3929 ¢5 53 g (Godil> 390 5 aS (glaiSs
SO AwlgS 10 4S5 35S )0)8 .l 834 453 W ddls (ol jl edlitiunl 6925 5 JUo j> .3gas e3liwl While adls> J5I> )5 for ddl>

13485 Slewl oiw O g yow W L Jubive

for i in (1, 2, 3, 4):
for j in (1, 2, 3, 4, 5):
print("*", end=" ");
print();
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pass g continuedbreak jleslaiwl b adls 5l yaun 2yl
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print("Demonstrating the use of break\n");

for x in (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):
if (x == 5):
break;

print("Number ", x);

print("\nDemonstrating the use of continue\n");

for x in (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):
if (x == 5):
continue;

print("Number ", x);

print("\nDemonstrating the use of pass\n");

for x in (1, 2, 3, 4, 5, 6, 7, 8, 9, 10):
if (x == 5):
pass;

Demonstrating the use of break

Number
Number
Number
Number

Demonstrating the use of continue

Number
Number
Number
Number
Number
Number
Number
Number
Number
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Demonstrating the use of pass
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